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B.Com./ II Sem. B
Paper CP-2.2 - CORPORATE ACCOUNTING
(Admissions of 2011 onwards)

Time : 3 Houfs Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
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Note :.  Angwers may be written either in English or in Hindi; but the same medium should
be used thiroughout the paper.
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. Attempt all questions.

Al questions carry-equal marks.

wit weT i |
i vl F FE T

1. (@) Good Luck Co. Ltd. issued 2,00,000 equity shares of ¥ 10 each at a prémium of
T2 per share; payable as follows :
On:application ¥ 2 per share
On alfotment ¥ Sper share (including premium)

Oncall T Spershare
Applications were reiived for 3,65,000 shares and the allotment was made as.
follows :
{pplications receivefor Shares allotted
40,000 40,000
5,000 NIL
3,26,000 1,60,000
3,65,000 2,00,000

Mr. A whe applied f(800 shares (pro-rata category) could-not pay his dues-on
allotment, as such, histhares were forfeited. Mr. B, whio was allotted 600 shares in-
the  same category fied to pay the call money; hence, his shares were also
forfeited. All the forféd shares were reissued at a discount of 10%:
Pass. journal as Ell as cash book entries in the books of the cormpany. 12
8502 1 P.T.0:



(b) What do-you mean-by ‘buy-back of shares’ ? What is the rationale -behind it ?
Explain bricfly. : 3
. g - .

(30 qsaas%. %ﬁé@:ﬁ“? 10 IS 2,00,000 TR 3w Wi afwr T 2 sifirm o ol e
T . ‘

anéﬁut% 2 ufet afwr

anaizw}? 5 wfar 3w (sifirrm afee)

A W T 5 o S

3,653090131‘3’1‘?&??@1 mmm@wmﬁwwmmw

SR W £ Siy1_ et fedt @

40000 40,000

5;600 FT T
320,000 - 1,60,000
;,65,060 C2,00,000

st v Rt 800 2wl & fow ands fem o (@uFE ) SEE W A i T &
3t 308 ofw ey o PR T 1 o o o it T | 600 S aEfen el v & are
Tfer ¢ ¥ Srhe @, AT 3aF ot 3w orea F O T | adt st R TR s @ 10%
a%qqa TR ¢ e m

mﬁ%ﬂmwnﬁaﬁﬁuﬁﬁzﬁﬁﬁm

@ am‘t%gqéw itmmwmﬁm%?mtﬂ%wmm(mmale)%vmﬁq
# e HIfAT

OR/&gat

1. (a) Explam in.brief the provisions of Compames Act reprding the issue of shares at
discount. - 7 ‘ : 3
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(b)

G

Fhe following is the Summarized Balance Sheet of Hira Ltd. as on 31% March,
2011 ;

Liabilities z Assets '3
-4000, 8% Preference Shares ' Sundry Assets 18,00,000
of ¥ 100 each fully paid 400,000 | Cash at Bank 7.00,000

3000, 10% Preference
shares of ¥ 100 each T 80

paid up 2,40,000
1,00,000 Equity Shares of
T 10 each fully paid 10,00,000
Securities Premium 60,000
Revenue Reserve 6,00,000
Current Liabilities 2,00,000
| 25,00,000 25,00,000

. It was decided to redeem both the classes of Preference Shares at a premium of

S5 percent.

+

The company issued for cash so many equity shares of ¥ 10 each as were

necessary to provide for redemption of both classes of Preference shares which
could not otherwise be redeemed. The issue was fully subscribed.

You are required to give the journal entries in the books of the company and
prepare the Balance-Sheet.

ST B Y WK T & i o et afifrent & et @ gl § aoi i |
a0 fefias o1 SRt TEF-a 31 W, 2011 Wt Pt wEROT

12

it S { Ffeeat T
4000, 8% 3hmM s, | | Pty anfet 18,00,000
*|% 100 s ot =R 4,00,000 | ¥ & T 7,00,000
| 3000, 10% e 3w,
¥ 100 Wi, T 80 wH 2,40,000
1,00,000 T &9, T 10
wia o wEw 10,00,000
v iran 60,000
e s 6,00,000
ey, afFe 2,00,000 |
/ 25,00,000 25,00,000

qgﬁﬁaa,mw%aﬁlmma}?ﬁwﬁwm ﬁmwﬁmwﬁmaﬁ i

W#Wm%ﬁﬁ$ﬁm%§mwﬁ? 10 WRY Aot WHaT T
mﬁwﬁmﬁﬁquﬁﬁmmmm | P ol arfiew @ )

aﬂ%%mﬁﬁmﬂmwﬁﬁmﬁww-ﬁmﬁl.
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(a)

(b)

The following balances appeared in the books of Keerti Limited ont April 1, 2011 :

T
12% Debentures 40,00,000
Debenture Redemption Fund . 30,00,000

Debenture Redemption Fund Investments _ 30,00,000
(represented by 10% ¥ 36,00,000 Government Securities.)
Annual contribution to Debenture Redemption Fund was T 6,40,000 made on

31 March every year.

On 31" March, 2012, balance .at bank was ¥ 20,00,000 after receipt of interest on

investments. The company sold the investments at 84% (net) and debentures were
redeemed at a premium of 2%.

Prepare the following accounts in the books of the company :
(i) 12% Debentures Account

f(ii); Debenture Holders’ Account

(iii) Debenture Redemption Fund Account

(iv) Debenture Redemption Fund Investments Account

(v) Bank Account o 12
Write short note on : ‘Debentures issued as collateral security’. 3
(30 =it fefiee = qeaet 3 1 o, 2011 R Frafefea A g 4
. .
12% FoT 40,00,000
RO WA B 30,00,000
oo, T A faf 30,00,000

'10% T 36,00,000 TR Fefdt & w9 7 e &)

ofs % 31 T F T 6,40, OOOWWWWWﬁ'ﬁ%qimm [

31 T, 2012 B fafAw W =t Wit oy d% 9w T 20,00,000 o1 lasmvﬁﬁr
Fofiar =Y 84% (Praren) W & Fear S T o e 2% St R w1

T o qeat  Frefafed Ew dar Fe
(i)  12% Ao T

(i) T "R G

(i) T T P T

(iv) TR e iy fafe @

(v) &% @

@) e S g e & o o vy e R

OR/ATaT
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The following are the balances of M/s XYZ Ltd. as on 31 -3-2012

~ Debit Balances N ¢ Credit Balances z
Premises 30,60,000 | Equity Share Capital - o
Plant 30,00,000 | (Z 100 each) 30,00,000
Stock’, 17,50,000 | S
Debtors, 8,70,000 | 11% Delgpnturés 30,00,000
‘Paténts 2,50,000 | Bills payable "3,90,000
Bank _ - 4,56,000 | Creditors 6,00,000

Calls-in-Arrear Sales 4¥,50,000
Interim 100,000 Provision for |
Dividend Paid 1,45,000 | Bad Debts (1-4-2011) 40,000
Purchases 18,50,000 { General Reserve 4!_5.(#,000
Preliminary . o
Exp. 50,000 | Profit & Loss Alc 3,56,000
Wages 9,79,000 | (1-4-2011)

General ' '
Expenses 68,000

Salaries 2,02‘,000

Bad Debts 21,000

Interest On Debentures 1,65,000 -

| 1,19,66,000 1,19,66,000]

9502

r(a)., ‘

Additional Information : =, )
Stock on 31-3-2012 was ¥ 10,20,000. y
Depretiate plant by 10% and patents by 20%.

®)

(¢} Write off ¥ 10,000 from preliminary expenses.

(d)

Interest on debentures is due for 6 months, -

(e) Create 5% provision for doubtful debts.
(f) Provide for income tax @ 35%.

(2)

Board of directors has proposed a final dividend of 1

5%, ingluci{_li'g interim
dividend. '

(h) Assume Corporate Dividend Tax @ 17%. -
(i)  Transfer an amount to general reserve as required by Law.

Prepare Trading Account, Profit and Loss Account, Profit’ and'Loss Appropriation
Account for the year ended 31% March, 2012 and Balance Sheet as on that date. 15

S P.T.0.



ﬂ?_q# XYZ feiftres & 31-3-2012 ® Pnsfofiaa dw o .

I vy 2 AT - g
aq 30,60,000 | = &9 it (T 100 W) 30,00,000 |
T 30,00,000 | 11% o | 30,00,000 |
Thar 7,50,000
TRR 8,70,000 | W7 fae ©3,70,000
Rz 2,50,000 | SR "6,00,000
& 4,56,000 | ot ' 41,50,000
IJHm@T v i 1,00,000 | o o & foiw wawme 40,000

: (1-4-2011) :
3T T 1,45,000 | W SRRt 4,50,000
= 18,50,000 | w1 3ivt &k @ "3.56,000
(1-4-2011)

wifirs =g 50,000 |
Rl 9,79,000
R 2 68,000
a1 2,02,000 |
T A 21,000
HROTTAT T S 1,65,000

. 1,19,66,000 1,19,66,000
ﬂﬁfﬁ'ﬂﬂw:
(&) 31-3-2012 Tt &hwr € 10,20,000 &1 ¢
(@) ¥TdFTH WO W 10% T 9T W 20% BT |
(M) Wi =g § 10,000 NUFATERT (Write of) T |
(@) O 9T G A a6 P
(®) o w3 feaw 5% 1wt S |
@ I % few 459 %) &7 R T B |
@) Frwe viget X 15% - s e fo E, arafo emiw whntea &
(@) Fom e W 17% B SR W ‘
@) Tafy srquR amm anﬁqﬁrﬁnﬁrmﬂﬁﬂaﬁﬁu [

31 1, 2012 aﬂmaﬂ%ﬁmmﬁ'ﬁm mqamﬁwam“ﬁm ‘S aify
i‘aﬁuﬁmmﬁmaﬁﬁwaﬁwﬁwmr '
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3. (a) Distinguish between ‘Pooling of Interest method’ and ‘Purchase method’ in case
of amalgamation of companies.

(b) The following is the balance sheet of Y Ltd. as on 31* March, 2011 :

Liabilities T Assets 4
+ Capital: 2000 equity shares Goodwill 4,000 |.
of ¥ 10 each fully paid 20,000 _
Plant and Machinery 4,000
Accumulated Profit 7,000 | Land and Building 12,500
Debentures 10,000 | Stock - 18,500
Creditors 3,000 | Cash 1,000 |.
40,000 ) 40,000

X Litd. agreed to take over all assets of Y. Ltd. except Plant and Machinery and
cash. For the purpose of absorption, goodwill was valued at T 6, 000 and other
assets are taken over at 10% less than the book value. Plant and Machmery were

sold by Y Ltd. at ¥ 3,000. X Ltd. also agreed to discharge the trade creditors and
- debentures.

- The purchase consideration was to be discharged by the:issue of 1;000 shares of

¥ 10 each, ¥ 8 called up at a market value of T 20 per,share and the balance in
cash. Cost of liquidation amounted to ¥ 400. You are required to ;.

(i)  Prepare realization account, X Ltd: account, equity shareholders’ account
and cash at bank atcount in the books of Y Ltd:, and

(ii) Pass journal entries I the books of X Ltd. 12

(*’_’T) mﬁq} & FEe (Amalgamtmn) %" %ﬁ Eal ‘FFT faﬁT (Poolmg of Interest Method)
2o <371 faftr (Purchase Methay # 3 e |
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(@)

Frfeiaa qem-a 31 W, 2011 Y Refige s e

b . ] .

| GULE | T anfeerat R
o : 2000 T 37, T 10 @ 1 4000 |
1 e IO : e 20,000 |

:l Y4 A WA 4,000
qualam 7,000 | ofir 7 s | 12,500
e 10,000 | Teferar " 18,500
TR 3,000 | 7 1,000 .

| 40,000 40,000

X fr, 'y for 9 win o st o et ) st e o & e 3 e
T

¢ | awen & Ry % few, = = ge T 6,000 mwmmmﬁm
T /]10% F9 W sifunfea b w1y f 3w SR Wit 23,000 8-S @ g
X ft. 3 =amar SRR st woveEt & e o) oft wewta

w4 Wiawel T IHEA 1000 3, T 10 TRAE A, ?s;uﬂ‘ﬂ?r(cauedup)7=|a"}alwnwz@ar
¥ 20 Wia 37 T Ay TR 9 TR A | of s @ €400 g

(i) YT @ g A e @, X A e, e s a e sl S e
@ T E, 3R

(i) X for. = gl # Ao whafest S |
OR/3aat

What do you mean by purchase consideration & per AS-14 ? Calculate purchase
cons;deratlon in the following case.

X Ltd, acquired Y Ltd. and agreed to make pyment as follows :

50,000 equity shares of ¥ 10 each atm agreed value of ¥ 12 to equity
shareho]ders of Y 1id. 1,000, 12% Debetures of ¥ 100 each issued at par to
debenture holders of Y Ltd.
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(b) The following is the Balance Sheet of Rising Star Ltd. as on 31% March, 2011 :

Liabilities 4 Assets T
Equity Share Capital : Goodwill 90,000
(2,00,000 equity shares of | . s ) ,
? 10 eaCh, ? 8 caned up) 16,00’000 Land & B_Ulldlng 7,00,000
Plant & Machinery 6,00,000
10% Preference Share . Investments 80,000
Capital (8,000 shares of o
z 1100 each) 8.00,000 Inventories 3,60,000
: Sundry Debtors 4,20,000
| 12% Debentures 1,30,000 | Cash at Bank 50,000
Unsecured Loan 3,20,000 | Profit & Loss A/c 1 8,00,000
Tr;gie Creditors 1,50,000 |
Bank Overdraft 1,00,000
31,00,000 | 31,00,000

Note : Preferénce Dividend is in arrears for 4 years.

The following scheme of reconstruction is duly agreed and approved by the
court

(1) Uncalled capltal 15 to be called up in full and equity shares are to be reduced to
¥ 8 cach.

(ii) Preference shareholders agree to forego their arrears of dividend.

. (ifi) 12% debenturcholders accept ¥ 65,000 worth 14% debentures in full
~ satisfaction of their claim.

(iv) Trade creditors are to forego 20% of their claims.

) Investments arc to be taken over by bank in full settlement of the bank
overdraﬁ

(vi}) Inventories are overvalued by ¥ 1,00,000 and machinery is to be brought
downto3 4, 00 000.

”~

(vii) A provision for doubtful debts @ 5% is to be made against Sundry Debtors.

(viii) Unsecured loan was satisfied by ¥ 2,20,000 worth 14% debentures in full
satisfaction of their claims.

You are required to pass necessary journal entries and prepare }Sost-
reconstruction Balance Sheet. 12

9 P.T.O.



(3) AS-14 ¥ SITAR %9 WRA Q e w4 s ¥ 9 frefafed swnat § @ whiee
Wm‘q- .

'Xi}ﬁ.ﬁYfT'l.WWT(Acquirc)mﬁmﬁﬁmW%fﬁQWﬂfﬁﬁ:
Y o, % it st 50,000 TR 319, T 10 Wl U W@ Jod T 12 W |
Y fof. 3 Sorernfedt @ 1,000, 12% FOH T 100 VAT B AT W

@) 31 9, 2011 B WERT @R A, 6 gor-ua Frefafea @ |

Tifra T wafet | ¢
Foen 3w S (2,00,000 It 90,000
HHT 3, WedH T 10,2 8 ofiT ud s 7,00,000
| e 16,00,000 | oo ot srgherd 6,00.000
‘| 10% arfmr afer gsi (8,000 fafar 80,000
| ¥, 7 ¥ 100) 8,00,000 | mirer gt 3,60,000
fafery S_ 4,20,000
9% ¥ T 50,000
12% T 1,30,000 | 7T 3¢ @Ry wmen 8,00,000
| arfira =t 3,20,000
AR IR 1,50,000
o NoTgIR 1,00,000
31,00,000 31,00,000
e o T 4 a§t @ wwE R |ﬁq%f@agqﬁmmwmm
RS 1 AR & -
() orntert Toi @ o qUi: ArE W A E T N S W oifeT qe gerEw
s frmamr e

(i)  femTT sfer it 3 ST e wnY S TR Wi g

(i) 12% %O qiE ¥ 65,000 YT F 14% FOH 3T il § atfaw foem & =g
T S wema ¥

(iv) TR SRR 392 gl & 20% TR WEsa ¢ |
(v) oF Agwe & ot fagem & w9 o9 fafvew e @

(vi) W gieE ® T 1,00,000 | e foa mar & won weied w6 e € 4,00,000
T = & S SR

(vii) fofa 3aRY W o o1 ¥ WEUH 5% wt T F fopar i |
(viii) SrfeTer @l H I STt i QU7 WARE T 2,20,000 YT F 14% T | s |

AR arienr ¥ T e e el W awn et - avew
ToA-0 §9R &t |
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4. Comparative Balance Sheets for Binita Industries Lid. are presented below :

31/03/2012 | 31/03/2011

Liabilities
L4 L4
Equity Share Capital 2,1 4,0_00 1,64,000
Profit and Loss Account 1,99,000 [+ 1,34,000
-10% Debentures 1,50,000 2,00,000
Creditors 34000 47,000

5,97,000 5,45,000

31/03/2012 { 31/03/2011

Assets -
L4 T
Land 75,000 1,00,000
Equipment 2,60,000 |  2,00,000

Accumulated Depreciation|  (66,000) |  (42,000)

Debtors 85,000 76,000
Stock in hand 1,80,000 | 1,89,000
Cash 63,000 22,000

5,97,000 5,45,000

Additional Information :

(i) Cash dividends of ¥ 60,000 were declared’ and paid during the year (ignore
Corporate Dividend Tax).

(iiy Equipment costing ¥ 50,000 (accumulated depreciation ¥ 30,000) was sold for
¥ 16,000 :

(iii) Interest on' 10% Debentures paid during the year amounting to T 20,000.

Prepare a statement of cish flows using indirect method as per AS-3 (Revised). 15
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Tt dewd fo. & qerta Frergamc €

31/03/2012 | 31/03/2011
ETﬁJEr .
T |t
T i e . 214000  1,64,000
7 F i 1,99,000 | 1,34,000
10% 0T 1,50,000 | 2,00,000
PER | 34000 47,000
597,000 545000 |
31/03/2012 | 31/03/2011
anfeat )
| ? 2
g 75,000 | 1,00,000
3 | :2,60,000 | 2,00,000
e S | 66000)| (42,000
AT I ss000] 76,000
o | e L 1,80,000 |  1,89,000
TR | 63,000 22,000
597,000 | 545,000 |
Hfafia LR

) T T T 60,000 T SavT 3 E o Fer % SR e <t % feam (b
AT F I ATHeA! B S )-|

G} T 50,000 T 3 AR (HHHT WRT T 30,000) # T 16,000 W AT |
(iff)  10% T T 2 20,000 =1t = A 2 e T 4
U TAHRI AT faaor AS-3 (Hefa) o A e Tl & weivy gr s o
- OR/3rg=n
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(a) What do you mean by ‘Cash’ & ‘Cash Equivalents’ as per AS—B (Revised) ?

(b) X Ltd. provides the following information. Calculate the net cash flow from
investing Activities & net cash flow Financing Activities as per AS-3 (Revised) :
1 2000 ¢ 2010
Particulars |
T 3
8% Preference Share Capital | 2,00,000' 1,50,000
Equity Share Capital 5,00,000 | 10,:00,000
11% Debentures 2,00,0001 '1,00,000
Securities Premium A/c. 50,000
Investments 1,00,0(;0 2,50,000
Goodwill 1,00,000
Machinery _ 2,15,0.00 ‘4,00,000
Patents y 1,50;000 .
Additional Information ;-
(i) Dividend on Equit'y éﬁarés T 50,000. The company paid preference
dividend also. - B
(i) Interest Ftceivcd on ‘Government Bpnds’ held as an investment ¥ 26,000.
(iii) Dividendreceived on shares held as an investmeﬁt? 15,000. |
(iv) A p'lot‘oi land was purchased out of surplus funds for investment purposes
and was 2t out for commercial use‘and rent received T 1,10,000.
(v) Allissue & redemptions were ihade at the end of the :‘yéar. | 12

(30 AS-3 (Giifd) ¥ FTER T AR T aHqre’ | vt w0 e €0

13 P.T.O.
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@ x & ﬁ#ff@ammm%lﬁ@mmamﬁﬁm%mﬁﬁ&g

niefafiat qu foeits Tiofefirat & fraer et yare s i -

i 2009 2010

4 T
8% A ey i 2,00,000 | 1,50,000
g afw 5,00,000 | 10,00,000
11% o9 2,00,000 | 1,00,000
femmiifest vifiem @mn - 50,000
fafrdm 1,00,000 {  2,50,000
wfa - 1,00,000
Ty 2,15,000 [ 4,00,000
T .1,50,000 -

(i) Gwe ST WA < 50,000 ) B R e s 7 o sy ey |

(i) R STe W Ve = ¥ 26,000 U RV @ wifa i e |
(i) ST O AT S € 15,000 i U FEw i wifq aift fear

(v) fERw & v @ W i B9} g W o gwe wlie T s S
Ty i & forg fetd woset R sl se@ 71 10000fau'rrmm§w |

) mﬂﬁr’m sk AT Tt & s W fHE ™ |

Attempt any three parts of the following :

{a) The net sales of Nanda Limited are ¥ 30 crores. The earnings before interest and
taxes (EBIT) of the company as a percentage of sales is 12%. The capital
employed comprises of T 10 crores of equity, ¥ 2 crores of 13% preference shares
and ¥ 6 crores of 15% debentures. The company’s profit is subject to tax @ 30%.

(b)

Calculate the return on equity (ROE) ¢f the company.

What conclusions would you draw from the following ratios with regard to the

financial health of a firm ?

1) Ratio between Current Liabilitietand Current Assets

(i) Ratio between Current Liabilitie:and Quick Assets.

(iif} Ratio of Gross Profit to Sales
(iv) Ratio of Net Profit to Sales

14

2010

1

:2.1
1:1.1
1:

1:6.5

4.5

2011

1

l
1:
1

]7
12

:3.5
: 8.5



(¢) Working Capital ' — ¥ 4,00,000

Current Ratio -2:1

Capital Block (net worth plus debentures) to Current Assets —3 : 2
Debentures/share capital -1:2

Reserves ‘ — 2.5% of turmover
Net Profit - - 10% of turnover
Tumover is I 24,00,000

Calculate :

(1) Current Assets
(i) Current Liabilities
(iii) Debentures
(iv) Net Worth
(v} Share Capital
{(d) (1) Whatismeant by ‘Operating Ratio’ ?

(i) A company has a capital of ¥ 10,00,000. Its turnover is three times and the

margin on sales is 6%. Find out the return on investment.
(e) Explain the meaning and importance of any two of the following ratios :
(i) Capital gearing ratio. '
(i)  Proprietary ratio
(ii1) Stock-turnover ratio
(fy Calculate E.P.S. and P/E ratio from the following :

Capital 3
" 9% Preference Shares of ¥ 100 each 10,00,000
Equity Shares of ¥ 10 each 40,00,000
50,00,000
Following- information is also given :
Depreciation T 2,90,000
Profit after tax 3 22,00,000
Equity Dividend paid 20%
Market price of equity shares ¥ 20 each
Frfefaa & @ fest div wvel 3 g dife

15

@ =1 o b fest ¥ 30 g & | et & T o oy g el Rt & v &
w0 H 12% & | Prgaa T F T 10 Tp H awen, 2 2 AT F 13% RmE smam ¥ 6

HUE F 15% T wfinfaa § 1 s & o 9% I 30% B T
FHA F FHAT W ATH (ROE) T FRAT |

9502 15
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@) T gen ¥ foeit @ @ watva Fe fafea st @ o wn frewd fraeh -

2010 2011
() el el of ey oMl e w1020 1:1.7
(i) = et SR e o H A S 1010 1112

(ii)) HA o F Foht | U 1:45 1:35

(iv) Freet o o feet & arqa 1:65 1:85
o = e ¥ 4,00,000

], ST 21

e srifecdl / ISt st

(et e + FOO) 322

EREE A 1:2

s T - fat =t 2.5%

et iy - faet =61 10%

famt ¥ 24,00,000 % |

ﬁﬁaﬁﬁﬂfz

() < atat

(i) Ry

(iii) TR

(ivy Traw aifema

(v 3w

@ @ uﬁ‘msmmﬁwmm%?
(ii) @mﬁaﬁtﬁﬁ?1000000%1mm(rumoveﬂaﬁw%aﬁrﬁﬁw
T 6% & | FRY e 7 SR
@© Frfafaa o @ ks S o & o o ue i
(i) T‘rﬁ'ﬁmﬁ’f(Capltal Geartrig) 3-IU¥T
(i) fafea=m@a (Proprietary) T
(i) et ARy S ‘
@) Wi a4 (EPS) 3R wwa @ T (P/E) sju Frafofiam @ s oo -

iR 2

9%, aifumrr s, Wi T 100 -39 19,00,000

¥ 10 % QIR 379 4,00,000.
Frefrfaagen

e %2,90,000
Q¥ T ¥.2,00,000
TR ST ST Eo20%
YA O T AR A %20 v&w
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